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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 6913523182
Option 11D : 69135212725
Option 21D : 69135212727
Option 31D : 69135212726
Option 41D : 69135212728
Status : Answered
Chosen Option : 4
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Question ID : 6913523116
Option 11D : 69135212464
Option 21D : 69135212461
Option 31D : 69135212463
Option 41D : 69135212462
Status : Answered
Chosen Option : 2
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Chosen Option :

Question ID : 6913523198
Option 11D : 69135212792
Option 21D : 69135212789
Option 31D : 69135212791
Option 41D : 69135212790
Status : Not Answered
Chosen Option : --
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Question ID : 6913523106
Option 11D : 69135212421
Option 2 ID : 69135212423
Option 31D : 69135212424
Option 4 1D : 69135212422
Status : Answered
Chosen Option : 1
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Question ID : 6913523113
Option 11D : 69135212451
Option 2 ID : 69135212450
Option 31D : 69135212452
Option 41D : 69135212449
Status : Answered

1

¥ oyl # ¥ ww amply oo

A B C D
Ans ?‘ﬁ- A
X2B

X3 C




Question ID : 6913523147
Option 11D : 69135212585
Option 21D : 69135212586
Option 31D : 69135212587
Option 41D : 69135212588
Status : Answered
Chosen Option : 4
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Question ID : 6913523139
Option 11D : 69135212554
Option 21D : 69135212556
Option 31D : 69135212555
Option 4 ID : 69135212553
Status : Answered
Chosen Option : 4
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Question ID : 6913523138
Option 11D : 69135212552
Option 21D : 69135212550
Option 31D : 69135212551
Option 4 ID : 69135212549
Status : Answered
Chosen Option : 3
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Question ID : 6913523103
Option 11D : 69135212411
Option 21D : 69135212410
Option 31D : 69135212409




Option 41D : 69135212412
Status : Answered
Chosen Option : 2
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Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

6913523143

69135212570
69135212571
69135212569
69135212572
Not Answered
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Option 41D

Question ID :
Option 11D :
Option 21D :
Option 31D :
169135212722

Status:
Chosen Option :
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69135212723
69135212721

Answered
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Option 11D

Question ID :
169135212413
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913523104
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1

Q1 e #R s B v 3 #F 8 9 § mars 1 owd §, TEF e e 5 S e F
3 R 10 v Fa ¥ AR R ook 5% w0 # 24 9 e §1 g o wR # e 5w w
P AT F H AT FAG EE?

V1B T




<218 g
<216 B
<420 T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913523114
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69135212456

Not Attempted and Marked For Review
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Question ID : 6913523152
Option 11D : 69135212605
Option 21D : 69135212606
Option 31D : 69135212607
Option 41D : 69135212608
Status : Answered
Chosen Option : 4
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Question ID : 6913523118
Option 11D : 69135212472
Option 21D : 69135212469
Option 31D : 69135212471
Option 41D : 69135212470
Status : Answered
Chosen Option: 3
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Question ID : 6913523196
Option 11D : 69135212783
Option 21D : 69135212781
Option 31D : 69135212784
Option 41D : 69135212782
Status : Not Answered
Chosen Option : --
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Question ID : 6913523171
Option 11D : 69135212684
Option 21D : 69135212681
Option 31D : 69135212683
Option 41D : 69135212682
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 6913523108
Option 11D : 69135212430
Option 2 ID : 69135212429
Option 31D : 69135212431
Option 4 ID : 69135212432
Status : Answered
Chosen Option : 3
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Question ID : 6913523170




Option 11D : 69135212677
Option 21D : 69135212679
Option 31D : 69135212680
Option 41D : 69135212678
Status : Answered
Chosen Option : 1
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Question ID : 6913523111
Option 11D : 69135212444
Option 2 ID : 69135212441
Option 31D : 69135212442
Option 4 ID : 69135212443
Status : Answered
Chosen Option: 2
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Question ID : 6913523179
Option 11D : 69135212713
Option 2 ID : 69135212715
Option 31D : 69135212716
Option 41D : 69135212714
Status : Answered
Chosen Option: 2

Qé2 HTF! T go AT @ Fua B aw §| g9 HfET F wed # 3eaw 3 F Av i @ e 9o 27

Lo H

B % @rder A frw fem & ¥2

HUA:
1.C,BFEHD CHIHUH A DFIRHFE
2CAFFSREIMB CreBowFE

A1 stpeT 1 gEiTea &, fehe ke 2 gaea AT &
2 3FAT 2 TATCH g, A HFAT 1 9T Fgr &
31 AR 2 S Ty TIeT &

4 Far 1 3T A& 2 e gatg §

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
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Question ID : 6913523142
Option 11D : 69135212565
Option 21D : 69135212566
Option 31D : 69135212568
Option 41D : 69135212567
Status : Answered
Chosen Option : 4
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Question ID : 6913523132
Option 11D : 69135212526
Option 2 1D : 69135212525
Option 31D : 69135212527
Option 41D : 69135212528
Status : Answered
Chosen Option : 3
Q.2 Read the given statement(s) and conclusions carefully and select which of the conclusions logically follow(s) from the
4 statement(s).
Statements:
L. All gold are jewellery.
1. All jewellery glitter.
Conclusions:
L All gold glitters.
2. All glitter are gold.
Ans 1. Conclusion 2 alone follows.
#< 2. Neither 1 nor 2 follows.
+ 3. Conclusion 1 alone follows.
#< 4 Both 1 and 2 follows.
Question ID : 6913523129
Option 11D : 69135212515
Option 21D : 69135212516
Option 31D : 69135212513
Option 41D : 69135212514
Status : Answered
Chosen Option: 3
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Question ID :
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Status :
Chosen Option :
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
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69135212706
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
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Chosen Option :
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Option 41D :
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Chosen Option :
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Question ID : 6913523141
Option 11D : 69135212561
Option 21D : 69135212562
Option 31D : 69135212564
Option 41D : 69135212563

Status : Answered

Chosen Option : 1
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Question ID : 6913523109
Option 11D : 69135212436
Option 21D : 69135212435
Option 31D : 69135212434
Option 41D : 69135212433
Status : Answered

Chosen Option : 3
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Question ID : 6913523151
Option 11D : 69135212604
Option 21D : 69135212602
Option 31D : 69135212603
Option 41D : 69135212601
Status : Answered
Chosen Option : 3
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Question ID : 6913523124
Option 11D : 69135212496
Option 2 1D : 69135212495
Option 31D : 69135212494
Option 4 1D : 69135212493
Status : Answered
Chosen Option : 2
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Question ID : 6913523133
Option 11D : 69135212530
Option 21D : 69135212529
Option 31D : 69135212531
Option 41D : 69135212532
Status : Answered
Chosen Option: 2
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Question ID : 6913523194
Option 11D : 69135212775
Option 21D : 69135212773
Option 31D : 69135212774
Option 41D : 69135212776
Status : Answered
Chosen Option : 1
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Question ID : 6913523161
Option 11D : 69135212641
Option 21D : 69135212642
Option 31D : 69135212643
Option 41D : 69135212644
Status : Answered
Chosen Option : 4
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Question ID : 6913523101
Option 11D : 69135212404
Option 21D : 69135212403
Option 31D : 69135212401
Option 4 1D : 69135212402
Status : Answered
Chosen Option : 2
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Option 11D

Option 3 ID

Status

6913523199

1 69135212793
Option 21D :

69135212796

1 69135212795
Option 41D :
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: Not Attempted and Marked For Review
Chosen Option :
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Question ID : 6913523140
Option 11D : 69135212558
Option 21D : 69135212560
Option 31D : 69135212559
Option 41D : 69135212557
Status : Answered

Chosen Option : 3
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Question ID : 6913523193
Option 11D : 69135212770
Option 21D : 69135212771
Option 31D : 69135212772
Option 41D : 69135212769
Status : Answered

Chosen Option: 1
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Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 41D

1 6913523167

169135212666
169135212667
169135212665
169135212668

Status : Answered
Chosen Option : 3

%4 Which is the world’s largest inland body of water?

Ans X 1. Huron

< 2. Erie
« 3 Caspian Sea
/< 4. Michigan
Question ID : 6913523197
Option 11D : 69135212785
Option 21D : 69135212788
Option 31D : 69135212787
Option 41D : 69135212786
Status : Not Answered
Chosen Option : --
Q.4 sriman is facing south. He turns 90° clockwise and then turns 180° anticlockwise. In which direction he is facing now?
2
Ans X 1. South
< 2. West
+ 3. East
#< 4 North
Question ID : 6913523154
Option 11D : 69135212616
Option 21D : 69135212614
Option 31D : 69135212613
Option 41D : 69135212615
Status : Answered
Chosen Option : 3
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Question ID : 6913523185




Chosen Option :

Option 11D : 69135212739
Option 21D : 69135212738
Option 31D : 69135212740
Option 41D : 69135212737
Status : Answered
Chosen Option : 2
@4 Find the mode of the set of numbers:
15, 27. 10, 18, 13, 13, 16, 20, 12, 11, 15
Ans x 1.°13
X 215,16
X3 15
W4 13,15
Question ID : 6913523121
Option 11D : 69135212484
Option 21D : 69135212483
Option 31D : 69135212482
Option 41D : 69135212481
Status : Not Answered
Chosen Option : --
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Question ID : 6913523200
Option 11D : 69135212800
Option 21D : 69135212797
Option 31D : 69135212798
Option 41D : 69135212799
Status : Not Attempted and Marked For Review

Qé“ Find the smallest square number that is divisible by 6, 9, 12, 13 and 15.

Ans 210 621000
< 2. 173000
< 3. 456000
v 4152100
Question ID : 6913523102
Option 11D : 69135212406
Option 2 ID : 69135212407
Option 31D : 69135212408
Option 41D : 69135212405
Status : Answered
Chosen Option : 4
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Question ID :
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Status :

Chosen Option :
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Question ID :
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Status :

Chosen Option :
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Question ID : 6913523137
Option 11D : 69135212545
Option 21D : 69135212546
Option 31D : 69135212548
Option 4 ID : 69135212547
Status : Answered
Chosen Option : 4
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Question ID : 6913523150
Option 11D : 69135212599
Option 21D : 69135212597
Option 31D : 69135212598
Option 41D : 69135212600
Status : Answered
Chosen Option : 2
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Question ID : 6913523180
Option 11D : 69135212717
Option 21D : 69135212718
Option 31D : 69135212720
Option 41D : 69135212719
Status : Answered
Chosen Option: 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
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Question ID :
Option 11D :
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Option 41D :
Status :

Chosen Option :
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Chosen Option :

Question ID : 6913523186
Option 11D : 69135212744
Option 21D : 69135212743
Option 31D : 69135212741
Option 41D : 69135212742
Status : Not Answered
Chosen Option : --
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Question ID : 6913523164
Option 11D : 69135212654
Option 21D : 69135212655
Option 31D : 69135212656
Option 41D : 69135212653
Status : Answered
Chosen Option: 2
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Question ID : 6913523166
Option 11D : 69135212661
Option 21D : 69135212664
Option 31D : 69135212662
Option 41D : 69135212663
Status : Answered
Chosen Option : 3
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6913523175
Option 11D : 69135212697
Option 21D : 69135212700
Option 31D : 69135212698
Option 41D : 69135212699
Status : Not Attempted and Marked For Review
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Question ID :

Option 11D

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913523178
169135212712
69135212710
69135212711
69135212709
Marked For Review
1

@ MN ¥ Tedt & e wgfa ¥ fafew @ 99w #t

. B C
Ans x 1. D
X2 A
X3 C
v+ B
Question ID : 6913523155
Option 11D : 69135212620
Option 21D : 69135212617
Option 31D : 69135212619
Option 41D : 69135212618
Status : Answered
Chosen Option : 4
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Question ID : 6913523192
Option 11D : 69135212767
Option 21D : 69135212765
Option 31D : 69135212768
Option 41D : 69135212766
Status : Answered
Chosen Option : 3
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Question ID : 6913523120
Option 11D : 69135212480
Option 2 ID : 69135212479
Option 31D : 69135212477
Option 41D : 69135212478
Status : Answered
Chosen Option : 2
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Question ID : 6913523107
Option 11D : 69135212427
Option 2 1D : 69135212426
Option 31D : 69135212428
Option 41D : 69135212425
Status : Answered
Chosen Option : 4
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Question ID : 6913523135
Option 11D : 69135212540
Option 2 ID : 69135212539
Option 31D : 69135212538
Option 41D : 69135212537
Status : Answered
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Question ID : 6913523136
Option 11D : 69135212541
Option 2 ID : 69135212542
Option 31D : 69135212543
Option 41D : 69135212544
Status : Answered
Chosen Option : 3
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Parrot, Vulture, Eagle, Hawk
Ans o 1. Parrot
/< 2. Bagle
/< 3. Hawk
< 4 Vulture
Question ID : 6913523127
Option 11D : 69135212505
Option 2 ID : 69135212507
Option 31D : 69135212508
Option 41D : 69135212506
Status : Answered
Chosen Option : 1
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Question ID : 6913523112
Option 11D : 69135212448
Option 2 ID : 69135212447
Option 31D : 69135212446
Option 4 ID : 69135212445
Status : Not Answered
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Option 11D

Option 21D :

Option 31D

Option 41D :

Status

Chosen Option :
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69135212488
: Not Answered
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Question ID : 6913523165
Option 11D : 69135212660
Option 21D : 69135212657
Option 31D : 69135212658
Option 41D : 69135212659
Status : Answered
Chosen Option : 3
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Question ID : 6913523105
Option 11D : 69135212418
Option 21D : 69135212417
Option 31D : 69135212420
Option 41D : 69135212419
Status : Answered
Chosen Option : 4
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Question ID : 6913523189
Option 11D : 69135212753
Option 2 ID : 69135212755
Option 31D : 69135212754
Option 41D : 69135212756
Status : Not Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913523190
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69135212758
69135212760
69135212759
Not Answered
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Question ID : 6913523157
Option 11D : 69135212628
Option 21D : 69135212627
Option 31D : 69135212625
Option 41D : 69135212626
Status : Answered
Chosen Option: 1
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Question ID : 6913523156
Option 11D : 69135212624
Option 21D : 69135212621
Option 31D : 69135212623
Option 41D : 69135212622
Status : Answered
Chosen Option : 2
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Question ID : 6913523160
Option 11D : 69135212637
Option 21D : 69135212638
Option 31D : 69135212640
Option 41D : 69135212639
Status : Answered
Chosen Option : 2
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Question ID : 6913523188
Option 11D : 69135212752
Option 21D : 69135212749
Option 31D : 69135212750
Option 4 ID : 69135212751
Status : Not Answered
Chosen Option : --
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Question ID : 6913523145
Option 11D : 69135212578
Option 21D : 69135212580
Option 31D : 69135212579
Option 41D : 69135212577
Status : Answered
Chosen Option : 2
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Question ID : 6913523172
Option 11D : 69135212685
Option 21D : 69135212686
Option 31D : 69135212687
Option 41D : 69135212688
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Chosen Option : 4
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Question ID : 6913523144
Option 11D : 69135212574
Option 21D : 69135212576
Option 31D : 69135212573
Option 41D : 69135212575
Status : Answered
Chosen Option : 2
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Question ID : 6913523125
Option 11D : 69135212500
Option 21D : 69135212497
Option 31D : 69135212498
Option 41D : 69135212499
Status : Not Answered
Chosen Option : --
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Question ID : 6913523158
Option 11D : 69135212630
Option 21D : 69135212632
Option 31D : 69135212629
Option 41D : 69135212631
Status : Answered
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Question ID : 6913523123
Option 11D : 69135212490
Option 21D : 69135212491
Option 31D : 69135212492
Option 41D : 69135212489
Status : Answered
Chosen Option : 3
Q.8 As of June 2018, NITI Aayog’s flagship Atal Inmovation Mission (AIM) scheme has selected an additional 3,000
3 schools across India to establish Atal Tinkerin g Labs (ATLs) programme that encourages among young
students.
Ans X 1. hard work
< 2. study
< 3. intelligence
+ 4 innovative thinking
Question ID : 6913523191
Option 11D : 69135212764
Option 21D : 69135212761
Option 31D : 69135212763
Option 41D : 69135212762
Status : Answered
Chosen Option : 4
Q.8 When the speed of any object exceeds the speed of sound. it is said to be travelling at speed.
4
Ans - 1. ultrasonic
' 2. supersonic
#< 3. infrasonic
#< 4 sonic
Question ID : 6913523163
Option 11D : 69135212650
Option 21D : 69135212651
Option 31D : 69135212649
Option 41D : 69135212652
Status : Answered
Chosen Option : 2
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Option 11D : 69135212476
Option 2 ID : 69135212475
Option 31D : 69135212473
Option 41D : 69135212474
Status : Answered
Chosen Option : 4
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Question ID : 6913523187
Option 11D : 69135212748
Option 2 ID : 69135212745
Option 31D : 69135212747
Option 41D : 69135212746
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Chosen Option : --
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Question ID : 6913523148
Option 11D : 69135212590
Option 2 ID : 69135212592
Option 31D : 69135212591
Option 41D : 69135212589
Status : Answered
Chosen Option : 2
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Question ID : 6913523168
Option 11D : 69135212669
Option 21D : 69135212671
Option 31D : 69135212672
Option 41D : 69135212670




Status : Answered
Chosen Option : 1

Q.8 Consider the given statements to be true even if they seem to be at variance with the commonly known facts and decide
9 which of the given conclusions logically follow(s) from the statements.

Statements:
All Needles are Pins.
All Pins are Letters
Conclusions:
1. All Needles are Letters.

2. Some Pins are Needles.

Ans X 1. Either 1 or 2 follows.
7< 2. Only 1 follows.

7< 3. Only 2 follows.
v 4 Both 1 and 2 follows.

Question ID : 6913523131
Option 11D : 69135212523
Option 21D : 69135212521
Option 31D : 69135212522
Option 41D : 69135212524
Status : Answered
Chosen Option : 4
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Question ID : 6913523134
Option 11D : 69135212534
Option 21D : 69135212535
Option 31D : 69135212536
Option 41D : 69135212533
Status : Answered
Chosen Option: 2
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Question ID :
Option 11D :
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Question ID : 6913523110
Option 11D : 69135212437
Option 21D : 69135212438
Option 31D : 69135212440
Option 4 1D : 69135212439
Status : Not Answered
Chosen Option : --
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Question ID : 6913523174
Option 11D : 69135212695
Option 21D : 69135212696
Option 31D : 69135212693
Option 41D : 69135212694
Status : Answered
Chosen Option: 2
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Question ID
Option 1 ID
Option 21D

16913523162
169135212645
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Option 31D : 69135212648
Option 41D : 69135212646
Status : Answered

Chosen Option : 2
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Question ID : 6913523176
Option 11D : 69135212702
Option 21D : 69135212703
Option 31D : 69135212704
Option 4 1D : 69135212701
Status : Not Answered
Chosen Option : --
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Question ID : 6913523159
Option 11D : 69135212636
Option 21D : 69135212635
Option 31D : 69135212634
Option 41D : 69135212633
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Chosen Option :
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Question ID : 6913523128
Option 11D : 69135212511
Option 21D : 69135212510
Option 31D : 69135212509
Option 41D : 69135212512
Status : Answered
Chosen Option : 2
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Question ID : 6913523146
Option 11D : 69135212582
Option 21D : 69135212581
Option 31D : 69135212583
Option 41D : 69135212584
Status : Answered
Chosen Option : 4
ok is an unsaturated hydrocarbon.
Ans (1. Hexane
7< 2. Butane
v 3. Benzene
/< 4. Pentane
Question ID : 6913523173
Option 11D : 69135212690
Option 21D : 69135212692
Option 31D : 69135212691
Option 41D : 69135212689
Status : Answered
Chosen Option : 3




